X I F M W B

1 FMRRBETARRTOH#R
(B4 : EO#&ha, £EETH)

N\ D * TI VAR $ 34 ;—T_l' % ﬁ E";i

A KRR X ey [ aE kB |28 T8 AR 8E
24 £ E
IEs # 198 1 197 — 77 78 42 — —
i:1] & 56 0 56 — 12 9 35 — -
XiRIEE 28,858 25 28,833 — 14,157 8,384 6,292 — —
25 & &
% ] 86 1 85 — 10 38 37 — —
i:1] & 14 0 14 — 0 2 12 — -
iR E 11,265 31 11,234 — 638 5529 5067 — —
26 & E
% # 129 — 129 — 42 2 85 — —
i:1] & 19 — 19 — 4 0 15 — —
XIRIRE 13,730 — 13,730 — 2723 1439 9,568 — —
27 & E
# 2 15 - 15 4 11 - — - -
1] L 1 — 1 0 1 — — — —
XIRIRE 934 — 934 154 780 — — — —
28 F£ &
#% # 42 2 40 - 14 — 26 — —
[i:1 L 8 0 8 - 1 — 7 — —
XHIRIRE 5,230 266 4,964 — 377 — 4587 — —
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2 MHRNKBERRDHRS

(B fr:E@HEha)

Z 4| @ % \ AN B X BHANX S
2N A | 25K | KA | ZEDfth| BT | €0M| & B
244
# % 16 - - 1 - - 8
m & 1 - _ 0 _ _ ’
25%F
" 14 9 - - 1 1 - - 3
|\ & 4 3 - - 0 0 _ _ 1
264
" 13 7 - - 1 - -
| & 2 1 - - 1 - _
275
" - - - - - 4
T - - - - - 0
284
% = 12 3 1 - 3 1 - _
[T 2 0 0 - 0 0 - _
3 FLHFMFEREFOKFTRADMER
(BGI:ha, #AKUVE L DY/ H94LY m®)
HEBEO|IRRX40O EAVRV.EVINVES IV DIby
FRNFER am|rrm | ORBOR Ly = | %0 |54y
24 0 0 0 0 22807 0 0 0 45
25 0 0 0 0 22435 0 0 0 47
26 0 0 0 0 20325 0 0 0 48
27 0 0 0 0 20,197 0 0 0 74
28 0 0 0 0 20,001 0 0 0 53
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3 FUHEMFRREFOWETRAOHR (03F)

(B4 : ha)
£ E | avsys hhada JXRRZ |9 |4/ | Y h Y LY <
HSLI5E
24 0 0 0 1 0 22 0 0
25 0 0 0 2 0 23 0 0
26 0 0 0 8 0 24 0 0
27 0 0 0 8 0 24 0 0
28 0 0 0 0 2 32 1 0
) BMHTREERICELS.
4 ZFHAERBEORERUHRRR(BE. BBRKELOH)
FRBES poF Yrpcd - RERR BB - F B4k R
R IR T REE
WO R (EEITR) Y i 20,001m’ 563m’
no (RIRERH) - - — —
no (X - - — —
no (FEHFIEA) Y ih 38,540ha 5ha
no (REESEA) - - — —
<Y AL — — — —
J & X = - - - -
S A (B 53km
v (R e [ AN 32ha 6ha
n_ (Ryh) 21ha
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5. HETHIIRSU BRIFERIKR (BN RERDA)

F
o xf 5 * R HAFK ER P&
AR W EA | BB EA

ha ha PN m

% # 5,908 5 3,609 563
EEERREEMR - - — —
A m - - — —

M K H — — _ _
MHBREREHR - - — —
wm H ™ - - — —
==L — — — —

£ B H — — — —

B 7 i HT — — — —

£ £ H — - —~ =
AR EER 28 — 1,921 13
T #® ™ — — — —

)" ] 28 — 1,921 13

B ®m ™ — — — —

IO B E BT 4,166 — — 500
1T = 1 4,166 — — 500

s B — — — —
KMMEMNEBH — 750 —
F OB T — 750 —

X M 0m™ — — — —
W5/ NEFE — — — —
TERHKEBR 2 — 190 —
T B T 2 — 190 —
RMABRMHEBHR 473 1 565 50
£ M 473 1 565 50
RERMNEHRT 1,232 4 183 —
FX il 1,232 4 183 —

fr ®HT — — _ —

EXPRA 1R = (R I BERR + 4 Il (e I BRBR + BT A £
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6. YHHERTRADHER

F [ RE A BEMLRERS | ®EHLrYL

E (m) (ha) (ha)
24 73,754 — 47.04
25 74,443 0.73 422.12
26 72,449 5.54 206.00
27 56,969 0.79 28.97
28 53,357 5.98 21.27

7. HETAI L A ERFIRE (RN RERDH)

o B BEMHIERED | HEHLERYL

m ha ha

% # 53,357 5.98 21.27
EEEMEHHR — — —
B E3] il — — —
0 VN T — — —
MHEBHKREREHR - — —
i FF il — — —
B X & H — - —
i 5 T — — —

H #f M & — — —
S - - -
RN EER - — —
T /N il — — —
3 il - — —
& 3] il — — _
IO EHEFERT - — —
il a il — — _
] ¥ il — — —
SMMEMNS R 27,318 - —
F ol il 485 — —
= o il 26,506 — —
W /hNE BT 327 — —
TREEAEHERR 11,546 4.60 21.27
T 5] ™ 11,546 4.60 21.27
RMABRHSHRR 14,493 1.38 —
& P il 14,493 1.38 —
HENEBR — — —
X il — — —
Ba] i T — — —
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